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The figures in the margin indicate full marks
for the questions.

Answer eifher in English or in Assamese.
TAG) @A seiEre Ten ket )
1. Answer as directed : 1x10=10
R st Tew faa ¢

(a) National Innovation Foundation was
established in the year

(Fill in the blank)
(I SN FIETEHH —— b ﬁﬁ%—@n
(1T 21% =3 F40)

(b) What is the full form of NITI Aayog ?
NITI sicasR =4 s & 2
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(c) Name the institution that offers Shishu/
Kishor / Tarun Loan.

e/ fooiR / o= A9 SHsEpEl Ao
s T

(d) Name the Act / Rule under which a sole
trading business is required to be registered.

e G efetE AGR TR G SR
q e wfee v zm e
(¢) The most complex form of modern

organisational design is —

@Eﬁas Ao SfET bR Siberey v
7_z S—

(1) Matrix organisation
ST AL

(i1) Network organisation
Giferl FALade

(1i1) Learning organisation
f=pelia 129lom

(1v) Horizontal organisation
TG 10
(Choose the correct answer)

(wa Tea afz S
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(f) The only one valid definition of business
purpose is to create customer. — This
statement belongs to whom ?

T ST SN (Y FRE T AR 7B
Tl | —@g FARE TS 2

(g) Give an example of diagonal combination.

I e @bl SRl ot |

(h) Ih what way high cost of land influences
industrial location ?

aﬁ@gﬁm%mﬂﬁa@ﬁﬁwwwﬁ@
F(A? :

(i) In which year The Competition Act came into

force in India ?

The Competition ACt SIFEIH® fo (B bo IR
9 " 7

(j)  Who are ultrapreneurs ?

@ Soals ultrapreneurs g (PR = 2

9. Write short notes on the following : 2x5=10

weTe fomicaa 53 (O ot 2
(a) Cognitive Entrepreneur

eaiePiE SrAre
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(b) North-East Venture Fund
JL2! (o Ty

(¢) Quality Control
LDICI BEC

(d) Business Format Franchising

IFNES AR wigfon 79 oo

(e) Start up.
iﬁ:‘ =19 |

~ Answer any four of the following questions :
3%4=20

o T Sif¥Et e S Fan g
(1) State five features of learning organisation.

ﬁ%ﬁﬁﬂﬁ%ﬂéﬂ%%f@@ﬂﬂﬁﬂﬁl

(i) Mention five leading limitations of Weber's
Deductive Theory on Industrial location,

e SrfEfs s ermmme SEEr e S
AU MRSl S 9 |

(iii) State the role of 11E in the development of
entrepreneurship in North-East India.

Tes- 7 o Srmifiel s 11Es ohRRs
TS 4|
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(iv) What are the sources of Venture Capital in
India ?

SRS RAMRPS Ferms Seopi e

(v) Explain Hagen's Theory of Entrepreneurship.
Hagens Smmifiel wey wpiem 1|

(vi) Why the objections against rationalisation are
becoming more and more irrelevant in India
today ?

TG SRS Fffe=em wiGikTNz &
s SeEEE 7 Akt ¢

Discuss with appropriate illustrations five
operational methods of MNCs in India. . 10

TWAPTSE TwizgaT e T e St
TR AEfE s w54 |

Or /=3t

Outline the concept of MSME. Why spch
enterprises are given priority in our economic
policies ? 4+6=10
93 G5 Y 3] QIFN A& 91 | WNF FLHA ST T
o7 92 AfSorrEe weifier & T 2
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What are the basic considerations involved in
setting up a new enterprise ? How ease of doing
business can promote faster rate of
industrialisation ? 6+4=10

B g Tl efewl sSe Rrapal SR
iz & 5 2 I e afem e
FeEee o wfEs sfedier sffa o ¢

Or/ sz

What is productivity ? How the level of
productivity in Indian industries has been raised
through technological and operational process in
India ? 2+5+3=10

T leTsl FF @A 7 SioEeRd S
s @ sreats Mz SermaTiere]
(P Ja 9 TEm 2

Name five remarkable innovative entrepreneurs
of modern India and state in brief their
achievements. 10

AT ©iged v SEala SeRE ST w%
Il i BT (OSERa Ffeyg o = |
Or / wizal

"Entrepreneurs are made not born." Justify the
above statement with acceptable arguments. 10

ST (ONE T TH— TN 7% | LN
&9 tite Oe [JYrer (@ifGrs! aete s |
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How entrepreneurial development programmes
are designed ? What hurdles are to be overcome
to make such programmes successful ?  5+5=10

Sriirel faam sl @@is gas a1 = 2 Sw
WnFEEE e TR TE B T Ha ofea

 Or/ iz

State in detail the role of government for the
promotion and development of entrepreneurship
in India. 10

CleIHe Crifael 2R o SEEeE I SISIE
TR gl azeites 3¢f <=1 |
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